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HEBRB79 MODERN HEBREW (HIGHER INTERMEDIATE)

Attempt All questions.
Write the answers to questions 3 and 4 in the space provided on the exam hooklet.

1. Read the following passage and answer the questions appended in Hebrew:
(20 marks)
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2. Translate the following passage into Hebrew: (30 marks)
Following the Tsunami disaster last December, people and governments in the |
West felt the need to help the victims. Money was raised quickly; food, water
and medicines were sent and many volunteers flew to the affected countries.
But the disaster has also raised the problems of unjust distribution of resources
in the world. European farmers are subsidized by governments because they
produce too much food, which has to be destroyed. Yet, most of the world’s
population is starving because traditional agriculture cannot meet the needs of
so many people and because it depends too much on the good will of nature.
Experts believe that we need to change our attitudes. For example, farmers in
the West can grow crops that will assist the bio-technological industries
instead of leaving their farms. At the same time, countries.in the Third World
should adopt modern technologies, such as genetic modification. Many in the
West are against this technology, but trials in India have shown that crops

have increased and more food was produced to feed the hungry.

3. Insert the correct verbal nouns in the following sentences: (5 marks)
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4. Complete the following sentences, using the verbs in brackets: (10 marks)
o™rwa Yy oa () Y 1Rk oUW DR W yawa (7o) Samn .1
ooampn ovwnna (M) v
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S. Write the following sentences in the passive form: (5 marks)
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6. Write an essay in Hebrew (250-300) words on one of the following subjects:
(30 marks)
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